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ENGLISH
1. The car collided with a vehicle.
Choose the correct word to fill in the blank.
{ 1 ]‘ Hiﬂtll‘lnﬂr}’ :;Hllii‘li'lﬂl'}'
{3] :.‘;tﬂhﬂn(:[”}" [_].} station
2, India is a land of myriad languages.
The meaning of “myriad’ is
@ several (2) separate
(3) local (4)  common
3. Johnson studies languages. Heis
Choose the best word that completes the sentence above.
(1) acardiologist @ a linguist
(3) an anthropologist {4 amactivist
4, Kavya is a precocious girl.
The synonym of ‘precocious’ is
(1) cheating (2 tinmd
(3) comfortable @ mtelligent
5. Choose the antonym of * Vindictive'.
forgiving (2) unvindictive
(3) invindictive (4)  disvindictive
6. Choose the alliterative expression from the tollowing :
(1) bang-bang @ ding-dong
(3) casy-peasy (4)  hurly-burly
7. Identify the expression that expresses the sound of a clock.
tick-tock (2)  putter-patter
(3) bow-wow (4)  haha
8§  Anairportisaplace _
Choose the correct relative clause to complete the meaning of the sentence,
(1) why planes land (2)  which plancs land
{3} who p[ancs land where ]'}IEJI‘I.EH land
0 He gave me the letter, which was in a blue envelope.
swhich was in a blue envelope’ in the above sentence is
(1) “anon-finite clause @ a finite clause
(3) adefining relative clause (4) anon-defining relative clause
10.° Thereis to make a cup of tea !
What is wrong with the pipes ?
Choose the correct expression to complete the sentence meaningfully.
(1) not enough water (2)  not water enough
(3) water enough @ enough water
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1. Choose the sentence which needs an article.
(1) Sheis suftering from fever. (2) He plays cricket.
(3)  Tam the greatest person on earth, @ He is friend of mine.
12.  In casc of fire, ring the alarm bell.
The meaning of *in case of is
in the event of (2)  together with
(3) because of (4)  separate from
13. (s quite time Murthy came home.
This sentence says that
(1) Murthy is at home. (2)  Murthy never comes home.
@ Murthy 1s already a little late. (4)  Murthy did not come yesterday.
4. If1 you, I would not buy it.
Choose the correct verb to complete the sentence.
(I) am (2) will be

@ were (4)  was

15.  She started living in Ongole [0 years ago and she is sull living in Ongole. She still
continues to live in Ongole.
The meaning of the above sentences can be understood as
She has been living in Ongole for 10 years.
(2) Sheis living in Ongole tor 10 years.
(3) She had lived in Ongole.
(4) She will live in Ongole for 10 years.

16.  She has already seen him.
The above sentence is in |
(1) the simple past tense (2) the past perfect tense
@ the present perfect tense (4) the simple future tense

17. He preferred less luggage as the roads were not zood.
The part of the sentence. ‘as the roads were not good’ is
(1) anoun clause (2) arclative clause
(3)) anadverbial clause (4) anadjective clause

18. | believe God. o
Choose the correct preposition to fill in the blank.

(1) over (2) at
. {3) on y @ n
MPC/EET 13 Turp Mf
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19. Choose the sentence with a non-finite clause.
With the tree grown tall, we get more shade.
(2)  The tree grows tall and give more shade.
(3)  Asthe tree grows. it will give more shade.
(4)  We get more shade because the tree grows.

20, Smitha said, “Gopi, where are you "
The indirect speech of this sentence is
(1) Smitha requested Gopi where are you ?
@2) Smitha asked Gopi where he was.
(3)  Smitha told Gopi that he was somewhere.
(4) Gopi asked Smitha that she was there.
21.  Choose the grammatically correct sentence regarding the use of “can’.
(1Y He can sing songs. (2) _Hecan sang songs.
(3) He can singing songs. (4) ~He cansung songs.

22. Choose the sentence in passive voice.
(1) Emergency was declared.
(2) | bought a broken chair.
(3) She was cutting the tree with a kmife.
(4) She had beenill.

23. Choose the correct spelling of the word.

@ .agnﬂﬁﬁﬂ (2) agrm:-'.ti.-:;
(3) aganostic (4) agnostick

24.  Choose the wrongly spelt word. |
@ erestwhile (2}  generosity
(3) specific (4) austere

26, Choose the correct sentence with regards t:nrthc end punctuation mark .
(1) Don’t you think 111111:s rather hypm:r!t!n:ﬂl !
@) Don’tyou think []131‘5 rather hypocritical.
@ Don't you think llml*s rather hypocritical ?
(4) Don'tyou think that's rather hypocritical

- hoose the sentence with correct capitalisation.
& {c:f) SI‘IT?S the first african "-'-*f‘ln'mn to win the Nobel prize.
{2y Sheisthe first Africal “'m‘n:m '0 win the Nobel Prize.
(3) She is the first African WOMAan to win the nobel prize.
(4) Sheis the First African Woman to win the Nobel Prize.
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27.  Choose the interrogative sentence that is grammatically correct.

(1) How long the queue is ? (2) What a long queuc this is ?
Is this a long queue ? (4) This is a long queue ?
28.  The following is a personal writing.
Writing a diary (2)  Writing a resume
(3)  Writing a complaint (4)  Writing a news report
29.  Writing a letter ordering a book is
(1) a personal writing (2) an informal writing
@Y abusiness writing (4) an official writing
30.  The following is enacted in a limited time with a few characters |
(1) A drama (2) A scries of plays
(3) A play @ A one-act play
31.  Choose the phrase that we use while giving an example.
(1) Though....... (2)y Accordingto.......
(3) Firstly ....... {4) For instance ...
32.  The following is not the language characteristic of an informal letter :
(1) using abbreviated forms (2)  using colloquial language
(3) omitting pronouns using formal language
33.  Choose the phrase that we usually usc while clarifying something.
(1) For this reason (2) People believed that
(3)  Nevertheless In other words
34.  Choose the expression that can be used to express a reason.
(1) Owingto....... @ To start with ...
(3) Forexample....... (4) Inother words .......

35. | will celebrate my birthday ? _
The language function expressed in this sentence 15

(1) aninvitation (2) an obligation
@ an intention (4) an ofter
36. |can’t walk fast.
This sentence expresses the |
(1) ability of the speaker @ inability of the speaker
(3) grief of people (4) suggestion of the speaker

37. May God bless you !

This sentence expresses

(1) apermission @ a wish

(3) acompulsion (4) aninference
MPC/EET I5]
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fully and choose the correey
' e b 110 i lur‘: i
-4 - ing passage ¢

38-42] Read the followt

[For Q. No.

answers to the questions given after it. cthnicity. income, education,

gisition of each new skil]
qtural learning rate. whick
in the child. This migh)
too early. a young chil
caning of the words

arent, regardless of
the child’s acy
d beyond his 1

In bringing up children, every p
or geographic location. watches eagerly th
However, it is often tempting to hun:y the chil R A
can set up dangerous feclings of tailure and htﬂlbhq :: il
happen at any stage. A baby might be fn!‘cml H;‘-r ]:11 W ‘
might be encouraged to learn to read betore he ki S ne too much, oF without any
reads. On the other hand, though. it a child 1s ,h:ft ltrﬂ; ® e and his desire o o o
learning opportunities, he loses his natural cnl_husm:_.r‘ﬂd f}r'--:: of strictness towards thei
new things for himself. Parents vary greatly in ther L.y :;)ll'.u r:. N o
children. Some may be especially strict in money matters. , fa] ‘ﬂ'u: ey N W ¢
of coming home at night or punctuality for meals. In g‘-‘}“ e P NP as th
represent the needs of the parents and the valucs of the community &

child’s own benefit.

38.  According to the passage, in the process of children’s fearning new 5‘“”5“* I“"“‘:f“: e
(1) must encourage them to read before they know the meaning of the words they
read. ‘ s oS
@ should achieve a balance between pushing them too hard and lcaving them ol
their own. .
(3) never expect too much of their children.
(4) should join them in schools atter 20 years.
39, It is pointed out in the reading that
(1) parents should not give money to children.
(2) all parental restrictions are the same.
@ parental restrictions vary, and are not always entorced for the benefit of th
children alone.
(4) all parents ask their children to read before they know the meaning of the word
they read.
40.  As we understand from the passage, watching the child’s acquisition of new skills
@ is universal among parents.
(2) is not seen in most of the countries,
(3) is very dangerous to their health.
(4) will make them lose interest in learning new things.
41.  Identify the true statement from the followiny :
(1)  The child should be left alone too much,
(2) Parents don't bother about their children's learning,
Some parents may be strict in punctuality for meals.
(4) The community has no values.
42.  Choose the meaning of the word ‘acquisition’.
(1) watching things (2) .
- playing with toys
(3) cating food learning of a skill. hab |
MPC/EET SKill. habit or quality
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43.  Sindhu was asked to praduce her certificate to prove her genuinity,
Choose the correct expression to fill in the blank. o
(1} adhoc (2)  sine diwe

@ bonatide (4) dctour

34. A person. who tries to make something less good by criticising” is known g _

Choose the correct expression to fill in the blank.

@) adetractor (2) a culprit
(3) adictum (4) an epitaph

—

45.  Choose the word that shows negative attribute. ‘
(1) Smart (2)  Sociable

(3)y Courageous @ Pessimistic
46.  The plural form of *datum” 1s

) data - () dates

(3) datums (4) d'd:tumus

47.  Asha got her eve on the gold ring.
Choose the meaning of the expression “got her eyc'.
@ observed carefully (2) dropped tears
(3) opened eyes (4).  blinked nicely

48.  This is a big suitcase with a teeny-weeny handle.
The expression ‘tecny-weeny' means

(1} verybig @ very small

(3) very large (4) very smar

49.  Match the following and choose the correct matching option :
i B

(i) part and parcel ( ) {(a) bigleaps

(ii) rough and ready ( )} (b)) hivelihood

(iii) leaps and bounds ( ) (¢) almost finished
(1v) hread and butter { ) {[I] an in[{:gml l‘mﬂ
() d.a.c.b () b.coad
(3) d.bia.c (@) d.cab

50.  Itis very important to have good

(1Y governmental 2y govemned
(3) governingly gOVernanee .
MPOCIRERT Bt
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PART - 11
MATH EMATICS
(sareais ___——

: H ¥ LY k! i‘
i ; ¢ 1s 14 cm, then
Angle of a sectar 18 o0° and radius

sl. ,
& | HEmOSTBD 05, 00 60° SOUSD TGP
$.20.2D.
2.07
(1} 1006 @ 102.6
(3 1116 (4) 98.60

§3. Value of cos” 0° + cos- 60° is

cos? 0° + cos? 60° @08, D0 =
oF @

(3) NG | (4)

o £ ')m‘ I

33, Ifadiceis rolled, then the probability of getting an even number is

25 I5H FoDSHD BOI0P; Syt ROETI5es =

l
iy 1 9 L
.
| 2
()3 i
4) 5
5‘1'1- [“ 18 R T 4 ! -
a Wm.ﬂ;_g.daagunal i times of its side
SOBES0E, S o0 4ol Sty

)
@) | Q) 3

4) 2
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55. Ratio of volumes of eviinder and cone whaose radii arc cqual and having same height is
L

28 TR, Do SOAD KN, FOPoiSO DVSOITERDY ding

(1 1:3 2y 1:2

@3:! (@ 2:1

56. tan 8 is not defined when 0 is
‘0" Ak, Densy tan B ﬂtﬁsﬂu-ﬁa}ﬂ{j}.

(1) o° (2y 30°

(3) 60° OR

]
57. IfsecB= 3Kandtanﬂ-—thenl{3-K—-

- . 3 P
see 8= 3K 350dm tan E=E escdd K- “xi=

w s @ §

(3) 3 4)

-#I_

58. |f'fﬂﬂﬂ' 'J_ then 7 sin0 + 3 cos?9 =

tan 8= vl_;: o 7 sin*8 + 3 cos-0 =

16 o
w7 @ 3
9
@ 3 @ 1
MPC/EET ‘ 191 Turn Over
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random, then the probability

. T —
-511_ From the 50 cards numbered from § to 50, 0 card is drawn @

that the number on the card is divisible by § is

S JaDy08
| 508 50 359 FobadDd) S0 sged woa asrEydyor &8 S W)

D 8 ¥ Jdyom grioietd Sog 550y0%0 $50grge =

| 2
(N 10 (2) 15
! 3
(3) E 25

60. Median of the data 6, 10, 20, x, 12, 14 is 12, thenx =

6. 10,20, x, 12, 14 © D&zRsS» 12, 900N ¥ =

(1) 6 (2) 10
3 4 49 14
6l. ITAABC ~ ADEF.BC =4 cm, EF =5 cm and AABC = 80 cm?, then ADEF = cin-,

AABC ~ ADEF, BC = 4 20.2., EF = 5 20.20., 58050 AABC = 80 8.20.20., &00

ADEF= 5. 0.50.
(1) 64 (@) 125
(3) 144 4) 169

62. Perimeter of g sector is units.

28 |Beodito Bwk) ey Fod ST EY.

=]
(1) l:f (2) 3gﬂuxm3
G) A+ [+
MPC/EET
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63. Inaright circular cone, 'xf(_|+ ) (l-r)= ,
(1) slant height (2) vertical height

(3) radius of the base (4) diameter of the base

25 (59 HTsS gomH& 1+ (1-1=

(1) Desro 2§ @ SRS

(3) e;ir;wgﬁga (4) &b JFgo0

64. Volume of a cube is 512 cm?, then its edge is
(1) 8cm (2) 6Gem
(3) 14cm

.5 OSORDSH0 TR0 HSIOITE0 512 0.0, GOV T WO FEY =

(4y 18cm

@ 8 230.50. (2) 6 20.2.

(3) 14 20.2. (4) 18 20.2.

65. T.S.Aofa solid hemisphere whose radius is x ¢m is 147 1 em?. Then 37 is

W 0.0, TIPSR N0 S wgiivo GnY) dodrgde dwopn 147 T $5.20.2.

oM v

(1y 21 2) 15

3) 8 @ 7

66. If cosec =2 and cot 8 =/3p where *0” is an acute angle, then p =

cosec B =2 84w cot 6 =\ﬁp_ ‘9 o E%gﬁm SO0 p=

R @ 1
]
MPC/EET il Turn Over
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L 1

. fcos

%49’ DD =
cos 20 = sin 46, 20 000

(2) 30°
(1 60°

i @ 1¥°

68. The mean of first five prime numbers is
35e3 280 PGS oo DNED =
(1 4 (2) 4.6

(@) 56 4 3

69. The value of log \F'{ﬂ is .

log ﬁ{H Lﬂﬁ)gbﬂﬂiﬁ =
(1 -6 @) 1
3 6 @ 8

0. If5isaroot of a2 = (K = 1) x+ 10 =0, then the value of K i
= (K= 1)x+10=0 BwE), a8 S0r0bn 5 eons K QA Jooid
(1) -8 _ 2y 7

(3) 8 4) 12

71. Sum ofthe roots of 2 = 16 = 0 is

F-16=0 L) o ISy =

1) —

16 2) 1
()
@ 4) 16
MPC/EET “I
2
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72. IfA=|xxeNand 1 <x < 6!, then n(A) =
= fx/xeN BA | <x<06) g0 N(A) =

IIJI
sakshieducation.com

(1) 6 2y 3
@) 4 4) 2
73. IfAcB and Bc D, then
A CB 0805w B ¢ D @00
(1) A=B | (@ AcD
(3y B=D 4) DcA
74. The degree of a quadratic equation is
3585 PEGEa (k) HBTEILD =
(n 1 2y 0
@ 2 4 3
~75. Logarithmic form of ’Uﬁ =21s
38 = 2 ooy BoBLSTS BrSo
' 1
@ |Dg,,3=§ (2) log, =3
(3) log 8=2 (4) log,2=0
76. The discriminant of the equation px? + qx + r = 0 is
pa? +qu + 1 =0 B Dis§ed =
2
(1) q+4pr @ q-—4pr
(3) p’-4qr S
MPC/EET
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o o2 4+ v+ 1 =0has
77. Thecquation.x 4+ x4+ {

(1) real equal roots
(3) real and unequal roots

2+ x+ 1= 00DE6eSD oo, ST TR
Q) TR voP V)

(2) real roots
(4) All of the above

(1) D[R TR DOP;L0

3) TETer wdom edsrye () > o)

78. The symbol for an empty set is

i’l‘ﬁﬁ PO V7 L [le)]
TR @ ¢
(3) 19 (4) (or(2)

79, It AN B= ¢, then the sets A, B are
(1) equal sets (2) subsets
(3) disjoint sets (4) equivalent sets

AN B=¢eond A. B Suebe

(1) [Ems dehen (2) &3 Jesen

—

(3) Ddasog sWeen @) oy e

80.  The zeroes of the polynomial (shown in the graph) gre

S0d V) RS’ SIrHS 295058 W&ﬂj

o
(N 20 Y
@) -2, & 0,5

[14)
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- - - Fn vy = '. W .
81.  To find out the slant height of o cone, weuse thearem

(1Y Thales (2) S.AS

(3) Pwvthagoras (4) 'S.58.5

Yomo Desmre 28 KoFHud  Drpodin eSdrAe.
(1) 3 (2) £6.5°.eD

Dt (4)  €0.40.60

82. Values of sin 30°, sin 907, sec 607 are n

sin 30°, sin 90°. sec 60° © Jwdew & Ko,
(1) AP @ G.P
(3) H.P (4) (her(3)

83. Which of the following formulae is assoctated to cylinder ?

308 JrEred’ s SoRoRols SrEsn

(1) +reh (@)
7
3 3 (4) ::'mh‘
84. Thelinex=-3is
(1) parallel to x-axis (2) parallel 10 y-axis
(3) passes through origin (4) passes through (0, - 3)
y=-3e: B
(1) »-0308 SS5rodtomr doths
@ y- 9508 SEroSEOM dothi
(3) Sore Hothd o S5
(4) (0,-3) Doty Hoa FHw
MPC/EET 115 Turn Over
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- ' . Lit' ﬂt tl
I Ih .I t { ) Itu:..'l ln ll

" vty & (SO
5. - §) Lol O e
(2) 1
o (4) Y
@y
g6, la b.carc i G.P.then b =
o OB
abhe& (}.Péeﬂ.ﬁulu b -
q e
(2) ——2'_

87.  The next term of the AP {a+ ). (a ) (=) Is

(@4 3d) (a+ ) o - ). o S AP E STE DI

(1y a+2d (2y a-2d

() a-4d (4) a-3d

88." The number of cubes of edge 2 em which can be cut out from a cube of edue 6 e
6 0.2, ot A D80 od 2 0.5y, eotie Ik PSR L T o S I
.;i{ﬁ:!:rm 3
(1Y 9

(2) 18
@ »
(4) 3
89, Whig miolthe AP - g
: 8.~ 16, - 14 18 firy it
) v HISEpositive tepy
8.-16,- 14 e O AP S J5v% |
: A\
. Iq A RWatS! &5ed INTA AT RS .
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90. A solid iron cuboid of dimensions 49 ¢cm X 33 cm X 24 emis melted to foyy 4 solid
L
sphere. then its radius is
(M 21 em (2) 1dem

(3) 2om (4) I18em

19 290.50. x 33 205, x 24 0.5, Fodes ZDAS &8 & Ale DTy 880 Fvor

S0y T TR
A 21 %0.0 (2} 1320.2
(3) 24202 (4) 18 D0.ak

91. The solution of the equations '\ﬁt - '\ﬁ y =0and wfﬁr + \ﬁ}f =1 is
3y =Ty = 0 28050 \[8x + A3y = 0 Bwg) TS

(1) x=3y=7 (2) yx=8.v=3
(3) x=0,y=1 @ x=0.y=0

92, 1f 16,5 36 arein G.P. then.y =
16, x, 36 & G.P & 95T +* Deod

@ 24 (2) 26

(3) 28 (4) 30

o 5 3
93. Ify= 3, then the value of *x" satistying the equation = ; =0is

y=3m5%+%=ﬁaﬁn§b§;ﬁﬂ3‘x'ﬂmﬁ
|
(3 M 7
. !
® -3 () 1
MPC/EET |17 Turn Over
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i cof sin 0 18
! Hmtermanlhm
, value of tan
g4, The

tan 8 Lﬁwgbﬂw:i sin 0 o &’

‘J:TinJ 0-|
(2)

sin 0

‘ 1 - sin 0
S0 () sin B
@ "~.||I ~sin 6 '

_sin®
(1 | - sin- 0

95, Distance between the points

A (log,,, 1000, tan 45°), B (cosec 30°, log,343) is

(1) ﬁ units (2) [0 units
(3} ~J1_4 units () 5 units

A log, 1000, tan 45%), B (cosec 30°, log,343) EATe TN )T QJL.,)& SRS 50

1) 13 asrdey @ iosode;
B V34 atordiey @) 5 onrdey
9. Mig values are ysed to find
(1) meap
1 (2)  median
(3 mode (4
) range
B 55
Vel
2% :5::55 Py GIAAPA
() s
(2) ;&:cjﬁﬁﬁ:m
B) gy
MPCFEET R
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Q. Booklet
Code
97. Probability of impossible event is

@y o ) |

(3) 1.0or0.5 (b 0.3

eSO F08335 G0), HOLTHS -

(hy O (2y |
(3) 108z 0.3 (4) 0.3
N AD 3 ; s
98. In AABC, DE || BC and [y =5 AC = 5.0. then Al =
(1Y 1.8 cm _ (2)y 3I5um
(3) 1.2cm (4 2.1 um
foi AD 3 )
AABC & DE || BC S00u50 5 = 5+ AC= 5.0 esomsd AE -
(1) 1.8 20.. (2) 3.5 20.0.
(G} 1.27%ea08 | (4 21205,

99, AABC ~ APQR, LA =50°then £ZQ + £R =

AABC ~ APOR, ZA = 50°, @900 £ZQ + LR =

() 1207 (2) 110°
@) 130° (4)  80°
100. Area of regular hexagon of side ‘a” unitsis ____ sq. units.
‘g’ O3000eY §hes0 o Ko Ls‘.;h::.aaaa% dToEn _ S.0%
3 o3
(1) %Eﬂ () =5 a°
- o3
@) 932[,,3 @ 4 v
MPC/EET [19] Turn Over
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Q- B{}ﬂkhﬂ
‘S[I{IE B|

PART - I
PHYSICAL SCIENCE

when ice melts. its temperature
1.

19 (2) does not change
U Eﬁfl:: (4) deereases
:.;Iﬂﬁi B8O EDASS P T8 &SNS
1) K00 (@) 066
) B d) S0

. i s o temperature and 70 gms of
o oFa mixture of 30 gms of water at 40 v
: remnerature of a mixture ot 30 ¢
(02. Find the tempe
water at 20 °C temperature.

e 2 9 e e
10 °C &S Ko 30 g, DD 20 °C GES RO 70/ s DBE 5EDS, & D
gy 3OS G
(1) 16°C R PC
Sy 24°C 4y 40°C

103, Zn+HCl— ZnCl, + H,

tisa reaction.
(1) Reduction (2)  Redox
L3} Thermal

(43  Oxadation
v+ HCl— ZnCl, +H,

30 ¢ - 385
@ 30 (2) e:ﬁé.;,ﬁejs-a Sfonltef
) &x
‘5"_.%\ (4) Hé&ﬁfﬁm
“H- ".I'n"h:l‘:h of
T v 0 .
“r!i:t .tﬂ,l.!““'“"ﬂ will be injected when honey-bee stung
o~ acid (2)  Succinic acid
834 o el (4)  Vinegar
S Redss
@ 3 LU %&ﬁﬂéﬁg 53% SBaraidso.
%8 S0
(3) N (2) $8yIE estio
&m“ﬂsg &5 e
MPEJEET ¥ (4) KB

..
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105,

106.

sakshieducation.com

Q' ﬂ‘u nklft
Code B

Name the type of veaction, when lead nitrate heated to dark brown,
(1) Eleetrolytic decomposition (2y  Thermal decomposition
(3)  Double decomposition (4)  Photolytic decomposition
8E& 35 IS Bl S0edh M Sorh Traind HSODH08. 38 D vy 505
- ¥ -
(1) D58 ISR 58 () e o0 S
(3)  Oo8; DArNo (4) sT08 oI WO;
The spoilage of food can be prevented by adding — vitamins as preservatives,
&850 FEBDOG" DoTreod D IS KoSd
(Y A.B (2y DK

(3) A.K @ C.E

107. We get diminished image with a concave mirror when the object is placed

(hy at*C’ (2)  between pole and F
(3) beyond *C” (4) at*F’
DS 6008 (UG P8Don J0Ermo By BONreo Yol SEyiT dod

CtatoeR
(1) V5 399 &ob (2) S DOk F o Sds; SK Gokl
(3) 399 'C’ % 6o Gok (4) SR F 5 ol

108. “Light sclects the path which takes the least time travel ™

MP

This statement was given by
(1) Fermat (2) Snell
(3) Hygens (4) Newton

5208 JQSPET (BOIPE SO0 SIPT &OG IPT JoHWoLnod” i T’

GRS

() 2oy @ S
(3) PRI ) Srgead
C!EET IIII -i'l“." {--}i‘{y[.
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{09, Intorch light the hljlh is placed of the reflector.
(1) very near to focus (2)
(3) atcentre of curvature (4)

Q. Booklet B
Code
at radius of curvature

between pole and tocus

53'53 Eﬁmmﬁﬂ} Nlepialile LTAJJE‘::'___ ;j[;é SO,

(1) THs &Rom (2) By SEo T5Dgo 5

(3) ST 300 3G @ $5y30, Do s

110. An object of 10 cm in size placed at 20 em in front of a concave mirror of focal length
10 ¢m, then the size of the image formed is

() 10cm (2) Scem
(3) 20cm (4) 15cm

10 20.0. TETOB00 Ko EFSE S0 SN 20 200..0. Grgod® 10 0.,
5051820 Ko S GoDD D (3o BBRrEs0 2o.2b.08

@ 10 20.%. (2)5 no.5.

(3) 2020.%. 4) 15205,

111, The nature of substance converts blue litmus to red. but no change of colour with red

litmus is
(1) Base (2)  Ncutral
(3)  Acid (4)  Can’t decide

ﬂéﬂ‘go 20D EJ'&.}&EJ Eﬁﬁﬂ‘ﬁnl Holv :ﬁ“ﬂﬁaffﬂ =0 09 @E.J%E} SOy HOD Sor N
s*Adorr ;&?ﬁ.}‘]ﬁj 828 L§Dﬁ 3"535“;55 &0,
() 5 (2) S

@ O3 (4) 5%}5.5:35&3

. Magnesium reacts with HCl produces ____ Eas.
(1) Oxygen (2) Nitrogen
3) Chlorine (4) Hydrogen
mﬁﬁcﬁm, 13@‘5‘55 335008 S5 2353}‘1‘!33:9& 23010 {it;;ﬂ'f B0 U
) &8s (2) BTwS
Q) £as @ o E S
MPC/EET |22
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Code
(13, Which of the following is an antiseptic ?
52 (808 TV’ 90632358 1 39Sk Saro
(1) Na,CO, (2) NaHCO,
(3) NaCl |

{(4) Na,50,
114, For thE_ same angle of incidence on media P,Q.R angle of refraction is 45°_ |50 and 35°
respectively, then write the medium in ascending order of velocity. -
28 38 090 DS P.QR o5rssrod’ Sidessis Serron SEBM° 45, 15%, 35 exoms

638" 08 Irren, (850 E0od)

() R<P<Q Q<R<P
4) P

(3) Q<P<R <Q=<R

115. The colour of the sky appears to an astronaut is

(1) Blue (2) Orange
(3) Red - (4) Black
5‘5:&}11‘3333-‘, easPHo Eda Sol0

(1) Qoo (2) edoz
(3) QB @ eV

116, The quantum number, which says about the size and energy of an orbit 13
2.¥ 5y s G308, HOITER0 %yBas0 ¥4 B 5°70L0 DO

(2) |/
@ ; 4y m,

(3) m,

. VF
" mis v 1 torm

lens made up of three different material. How many images does #
117, This is convex 1€

E} ::ijf.l; H_,:':J
585 SOTros Soird BovnGod. G0 <8
ety 555352;‘5"&5 ¥aaE0 5037 2T ®

oo S0RS
(2) 4
(h 1 3 cer
(3) =2 I11 Lurn v el
MPC/EET ‘
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. Wb (2) Chlorine
”} Cﬁﬁ]um
inc (4) Hydrogen
%)) Fluorine
dod EIRY PIENCESL R L ah CEUS RS
(1) PaHo 2) o5
@@_jﬂﬁ (4) ;_I_WL&GEES

119. Which of the following pair has same propertics ?

& Sod 436" 2.3 6523 gomyen 583 Sroste 228

@ Nz, K (2) Na. Mg
3y OF (4) - H,.Cl,

120, Which of the following is not ionic compound ?
g (200 06" DB uirdE $in¥so D ?

(1) NaCl (2) AICI,

{3) MQCIE BECIE

121, Number of sigma and pie bonds in N, molecule
N, oeagén Ean‘a, 2 OTPL TaSPaTAL

{h 1,3 (2) 2.1

@) 1.2 @ 3.1

122, Ottt ryle i
22. Otet rule is not valid for the molecule

OF8 D00 4809 ey

W) co -

£3) H,0 @ o,
MPCFEET | [24]
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following has high electronegativily clement °
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Code
(23. Which of the following is correct in the case of overl :

apping of orbitals
SO\ SETEBNHH $021050 & Bod 0 H6 9850 7
@ S-S>S8-P=>p.p (2) S-P>S8-S>P-P
(3) S-S<S-P<p.p (4) P-P>S-8>S-P

(24. The unit of potential difference is
(1) volt

(2) watt/ampere
(3) joule/Coulomb

4) Al
FEJOHS Bt |PSreren

@ 5§ (2) ¢ /es00098
(3) &S/Srewod (4) DB

125. A bulb is marked 70 W and 210 V. Its resistance is
2.8 ey Des 70 W 58050 210 Ve 10805658, &0 &0
(1 210Q 2) 709
(3) 280Q )\ 630 Q

126. A 100£2 resistance cut into five equal parts and are connected in parallel. The equivalent
istance is .
& Q D& GHS0S P U TN A8iEo) 830 HSrosEsnT 5900 S
100
D85S
(1 20Q

@) 49

127. If the length and dia

(2) 100Q
4) 5Q

1 y - y 1 Il1 ‘r‘l‘[ t ! r

become (2) doubled
1) 4times (4) halved
{{3; does not change

<5y SHOTIN oo RIS SAY T AE' S

((2) TSI
(4) R0 eHoh

Turn Over
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¢ current flowing in the coil is shown in the figure, what type of magneic

|?.S The ed tbuﬂ:dntthc face of the coil ?
p{:-|ﬂl5
(2) South
A (4) North
(3) West B0B. 5050 SD) SOODY ) Fydo
mo@‘{;ﬁﬁ-%ﬁ'&mﬂaﬁ S BF Wrdwdod. &8 ) S0
(1) S0t (@) wgeo
(3) S0 (4) &8EO

129. If the angle between moving charge and magnetic field is 8. The magnetic force acting
on the charge is given by =

68 3Tl eonos Sl DEFRo ‘0 GIHRod esF0D DAV

©UHMOS 200 =

(1) aVB g 0 ol
) vB=— (4) qVBtan®
130. Generator converts mechanical charge to chergy.
) Electrical (4) Wind

“8 o 849 0 ¥ S B00 ?
Ve ) sod ¥
@ oS 48

(4) 555 %8
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Q. Booklet
Code

St gcncrat'ud in a closed loop is equal to the rate of change of magnetjc
passing through it. |
(1) Motional EMF

(3) Motional resistance

fux

(2}  Induced EMF
(4) Induced resistance

2.8 S0B)S &G’ D5\ Bt Deosd T 100GHGH BEHIES By
Sty B HErS0.
(1) 5% Deoseyos 00 (@) 568 debgmes woo
(3) K% d&GSo 4)  (H8ss DEGo
132. Pick the odd one
(1) Galena (2)  Zine blend
(3) Cinnabar (4) Bauxite
208 738" HHHH.
(1) "d (2).| 205 Zo&
(3) ﬂh?ﬁ;ﬂ‘ﬁ D]
133. For the purification of Blister-Copper ___ is E:Hi.li]l'}h::.
(1)  Poling (2) Dlﬂtl“ﬂilﬂl:l
{3] Liﬂl]ﬂtiﬂ“ {4} Elﬂﬂtfﬂ]}'ﬂlﬁ
SO 50358 o 5858 oo B Sabertod.
(1) 2kOoh (2) 680
Begnes (513ab
134, The ﬂ“f‘ 'usccl in the extraction of Iron. T
(1), Silica (4) Lime-stone
(3) Feldspar
s &5 Soyreod T B3SO
) bos @ BoS
Dnray) TG
. &30, 5 (4) )
(3) 5 Turn Over
MPCI/IRET |2TI '
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135 The catalyst used in the hydrogenisation of oil is
(1) Pelladium _ (2) Sunlight
(3)  Nickel (4) Molybdenum

SrJdo & dsend od &30

() Jgdono (2) g sTod

@ J8S (4) SOOI

136. On what basis Pauling assigned the clectronegativity values i
(1) Bond energy (2) Bond length
(3) Bond angle (4) Al of the above

Pauling 3¢3 esGrBor e Do) 58 SO SHRTHD ?

@ 204 ¥5 (2) =08 &rdo

(3) =0 o (4) 23

137. Convert boiling point of water at STP into Kelvin
STP 3¢ &3 it &Pies SOSE” Srdiod.

() 31K (2) 100K
(3) OK 4) 273K
138. During refraction, which of the following property of light doesn®t change
(1) Direction | (2) Frequency T
(3) Wavelength 4 Velocity
:Jlgm" 238A0Dpo P03 NS ?-'JJ‘ﬁ)Jmﬁ).
(1) &% "
@ &n'@ﬁﬁﬂ
(3) SoKLEe 4) 3o
i 28
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a 12V source, its power will be

erta08 5853, w6 IVArAoY S

(39. A bulb is marked 60 W and 12 v s connected to
60 W, 12 V e L;Pgl@Rﬁn'l Ve 12 V
Fgso

@y 60w (2) 6W

3) 06W 4) 0.06 W

140. Which of the following undergoes substitution reaction ?
(1) Alkanes (2)  Alkenes

(3) Alkynes (4) Both (1) &(2)
308 IS (SHFIer B0 YIHID
@ ﬂéﬁl’u (2) Eﬂ@l@
es8)7% | (4) (1)208ain (2)

Name the IUPAC name of the above compound.
(1) Buta2,3—diene (2) Buta2.4-diene
(3) Butal.2- diene (4) Buta 1,3 -diene

CH;~CH=CH=CH, Bt [UPAC F°00

(1) esser 2,3 — G0 (2)  erpes 2,4 - o

e 1.3 - S
@) eryer1.2-GarS @ ey

142. The general formula of ketone 1S .
208 706" $65°S SBocis> B3t 00

R () R-O-R
@ e

n (4) R-OH |
(3 R-C-OR Turn ¢!

1291
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Code
gl
1 )

" eitical € » hetween air-plae
: Ctical angle bet air-plage
143, Refractive index of cl ith respect 10 air is 3 Then the critics
: 1ive index of glass with respect 10 &1 1= =

~interface is

o % 135007 5890
w® S0 e S84 heeko 2. rer-TrY 183y S0 @NEY P0G

@y 3o° (2) 31.80°
(3) 45“ (4) 209°

144. The unit of refractive index is

(1) Degree (2) Radian

3) (1)&(Q2) (4)  Nounit

S518655% 1oee%0 BwE), PEreTe

(1) Ghe @) (Ca0B
(3) (1) S50065® (2) @ Gy

145. The focal length of plano-convex lens is 2R, its radius of curvature 1s R. Then the
::reffﬁﬁfi:vﬂ'-index of the material used 1s

=

..- : ¥ HSO HogrsS S&50 Trgjo8l0 2R, L5 ;p;j-ugg R 5009, Soirbd d:

;’:crg :Sg_éﬁ;ﬁ:& Mes50.
(1 2 @) 15
(3) % (4) |

¥

146- Focal length of the plano-concave lens is
surface is R and nis the refractive index of the leng

When its radius of curvature of 1

9 N=1
(2) R
(4, =1

- R
sakshieducation.com
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| . w 18 = ED
147. Find the focal length of the lens, if the power of the lens 18

(1) 49 cem (2) S0cm
(3) 52.5c¢m (4) Sscem
Eodd 5% %';’ng 50 — 2D eonid & B8 Xjepﬁﬁﬂéﬁﬁﬂ'
(1) 49 20.2p. @ 50 200.20-
(3) 52.5%0.2. (4) 55 00..

148. What is the value of Planck’s constant ?

08 Joroso Jewss

(1) h=06.626x10*Js (2) h=066.626X luu‘“ Js
(3) h=6.626x10Js @) h=6:626%107 Is
- : 3 4l 19

149. Which rule is violated in the electronic configuration s 25" 2p™ "

(1) Bohr (2) ~Pauli

(3) Aufbau (4) Hund q

152 25" 2p* JoFS Desed’ b a0 P ENODRGID -

A S @ b

&
8o (4) S0

150. Temperature of a body is dircetly pmpii}:t"tn'lmll to
(1) average kinetic energy of the mo u;u es
(2) average light energy of the nmlecu;::s 1
(3) average potential energy of the molecules
(4) average total energy (KE + PE)

K SRS & &% FE0E &otwod.

(1) oo ST KSes ¥

(2) VIO Soesd 5708 %5

3) e Bo0 RS ¥
@ EDH® VOO S ¥ + o2 ¥4

Y E Tl nl i ’ IS!!
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